BEH—3

BEATV1—IL (F)

1 CHETOEERZE

FRE 22 FEFE
OEES Rk 2 286 A2 2 H
% 10 = @ﬁiﬁ “th:,i/ﬁf ﬁ@@w’ﬂﬁ ;d'}_p L7z
- EBECR ORIV T
OfEEHE 5 [B]RE &
FRR 23 £ E
OFE 1 BFEES $m23$4ﬂz6a(k)

« AR — R
E%?X& 7T AZEBT DEORIERE DL

O%F 1 EEEEHES ERk23FE6H148 (k)
« BB RAR T O < Uz AT T2 B
- MO E & olmiT =7k

OF 2EtEMHE FK23FET7TH14H8 (K)
cHEOFE DI TR ()

O%F 3 EHE Y2 3#E9H 7H (K)
O FE ED () Ot
2 SEDNDEBEETTESF

OFE2FEESE FH23FE10A6H (OK) Fail OKe~
s PR OFE LD

X | NTVUvwZarrb ] k2 3%1 0 ARAE~THE

OF 4 BIEEE YK 2 341 1 A LAE
- B () ORGT

®FE3EE RS FH23%11ATHE
- B H



